P

2 FER) Bk 29 T AR %2
HHAEN S P k29 4F 7 H &
H R AFE294F4 A 1 H ~E k3043 A 31 H k2944 H 25 B 1ERL
(LA D) BN
£ __H Big
G- ¢ 5,300,000|EE &8 H¥ERE 2K QSEEI 1804 )
A & & 420,000(2145 A% RiAte
. £ E1,700,000 (1704 ) —##%500,000 (1004) AF£F50,000
AR 4,500,000 435,000 E 4% A5,000 AEREEFLD T 422,210,000
VFEEFSE - RSB ZOMAIZE 50,000 |29%F Es 422 A2 240 & FIATe (R B iR A RS A SARAE, 2 26T O3 BT RIEII725)
AR R H Sk NES R
284F & A A A TR R 234,763| (255740, 5555H %) 8,608 (NRIRIERE4) 103,760 (AR LIEAIRIER) 122,395
PR AAT0,0000ESFFE RANI—REERE M)
Z D GBI 1,835,000 | /I8t 58 5 1 4 (444 HEOER 308,000 SE41 2325 (8244 5N ) 656,000
T AN VERR AR ( 7544 7ERK) 800,000 5% HWF]E.1,000
NP e AT w7 AFEAR 70,000 ARAN—R 238552 130,000
AT yI AT, LD’ 25,000 e A 25 5 (7% AN T I 0 FE) BRAE T 45,000
A Rl 4,662,874
IWAAEE 17,247,637
%% (FERELR) 800,000 &FFEVEEH~OFEEHEEEE 600,000 {£3 200,000
CZHDHER) B
£t __H TR T =
BE WEAESE~RBE 55,000|iB4 £ E14, R B4, 240 %3k
KB 4,500,000 | s ntER 247 AR 1,180,000 223548 FELIA O Fl 43,320,000 HiA T
SR 100,000 [AREE k<, EES SHEEEA, WM Sk R
HHIHREL T 120,000 [ AR A BR<, 8 At
W E & 270,000 | AJRBE 25, ZEES@E, 5 HE 23 Bk
A 260,000 | AEBIHE 2<, FES. ZOMOKEE  HUERKER A5 H
IR EAn 650,000 [ AR ZBR<,  EAMTESEA H7— B BREE, 10— Fbh—bn—y T
F | B A 200,000 [AEBIHEZERS . AR, FBHE SHEMR
KRR A 150,000 | 3cib /b4, S BH 1 FH (B4 %S R, BR) ~OFM, EER
=E 100,000 [4E4[EIFEA T (%, % A AFAL;
A B 15,000 (A EAEH ZB, R BISEE B9 (RA, InEHEIL [MAA#H @¥3,000 )
JINGh AT B 10,000 |/IN i JR T = 2 S FHH &
AN A 250,000 | BB AAE L S —H oA (S8t ), 358 A
Fei A B S 20,000| Bk EF L 2D
RE 656,000 | LIFRERIF i (RERT 0V —RET) BT 6 LT, SRR 250 THD b
AR KRR B AR NES =
AL (SEE TR, B, NibE) 200,000|4H.5H. 6 A ZBE. AR TR, 2Z18%E50,000 /)8 BT B OGEE & 4 150,000
AL FHCR 1,000 [ A< Bt 3[R A R< | 47T - B85 ~ D HA T 5ok
284EFERAZ . FEA ) AP IR R 2,899,000 | HI#IHIRE: &A% 2,850,000 HifH#+49,000
A 0@ H LB~ R 1,700,000 3@ H &Y E LT £ 81,700,000 (1704 #R4%

21 e L BEONERE50,000 8 4252 A5, £:35,000)2190, o fy
wm~ozieie | oo LI AR,
SEENVE A BN 54,000|3 EERE AF SVar 7 a—EE O
RAN—RERRAR 800,000 (=% 4907 F
FE s BB 400,000| =% 90F1
T 50,000 | FEMEREE, 3 Lo A AT
MeEr Zfh 90,000 | AR B2 BR<, MR 43,000 #E1%4 12,000 ZFDfh 35,000

X H N 15,760,000
A JEE Hi il 4 1,487,637 |t 181473, 175,237 (20D P28 45 E 167 2 20 117 2,850,000 D HERR -7 L FHT %325, 237)
X GG 17,247,637
IWAGRE — ZHUNGEE = WS4
IRAEE 17,247,637 M
X H/NEF 15,760,000 [
WEERES 1,487,637




